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@OScosxsl @ 0<sinx<1 @ 0<tanx<1

@ -1<tanx<0 ® -1<sinx<1

0°<x<90° Y wf0<sinyx<1,0<cosx<1,tanx>0
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Fstodet. (2, sin62° = 0.8829,
cos 62 ° = 0.4695, tan 62 ° = 1.8807)
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(¥°]) = 10sin62° = 10 x 0.8829 = 8.8 (

m)




/C 7} A7kQ) 47447 ABC o4 AB = 2, BC = 1 2

(sin B + cos B) (sinA — 1) &] 3127

V2 14+ V2 1+ V3
®_T\/' @—\/4 @-

AC=V22-12=3
(sin B+ cos B) (sinA — 1) = <\/7§ + %) <% —1)
V3




S A7 ABC ol 1A =34°
o, &=0] BC & #51H? (&, sin34° =
0.5592, cos 34° = 0.8290 )
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@ 20.141cm @ 21.523cm

@)22.368em @ 23.694cm

® 24.194cm

BC
i 40 = —
sin 3 10

- BC = 40 x 0.5592 = 22.368 (cm)
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(1) AH = x2} 5t
AABHO|A /BAH = 60°°]| 22
BH = xtan60° = V3x
AACHO|A /CAH = 45°0]| B2
CH = xtan45° = x
BC=BH-CH°|E&
4=V3x—x,4=(V3-1)x

=2(V3+1)

T x=4x

1

V3-1

(2) AH = x2}t 514
AABHO|A /BAH = 60°°]| 2 &
BH = xtan60° = V3x
AACHOA /CAH = 30°0]| 2 &

CH = xtan30° = gx

BC=BH-CH?|2=2

8 = \/gx_ﬁ ’8:27\/3)5
3

T x=8X =43
\/_




th2 1o AB = 9 O 9 | Eo]1 C
/AOC = 120°, /ADC = 90°, AO =
12cm ¥ o], AAOC 9] Yo|&=?

120°
A oer 0 D
D 12V3cm? @ 243cm? 12 cm
@36 V3em? @ 48 V3em?
® 60v3cm?

B

(d°l)= 5 x A0xTD
CD = 12sin60° = 6 V3
mehA] AAOC = % x 12 X 6 V3 = 36 V3(cm?) ©|t}.
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@ 200 cm? (@)200 V2 cm? ® 20043 cm?
@ 202 V2 cm? ® 202 V3 cm?

B

360° + 8 = 45°
1
(AAOH ¢ Ho])= 5 X 10X 10 x sin 45 co|E g

V2

e 1
(B9 %‘Ol)=§x10x10x7xs

=200 V2 (cm?)




